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Difficulty Rating 

The Difficulty Rating refers to the percentage of students who answered a given question correctly and using this percentage to indicate how difficult the question is on a 3-point scale, HARD, MODERATE, EASY.
	Percentage of students who have answered correctly
	Question rating

	fewer than 25%
	HARD

	between 25% and 75%
	MODERATE

	more than 75%
	EASY


The Point Biserial (Biserial Correlation Scores) 

The Point Biserial describes how well a correct answer to a given question predicts a high total score. If a correct answer to a given question is very indicative of a high total score, the question receives a more positive rating.

	Biserial Correlation
	Question rating

	      >0.4
	GREAT

	0.3 - 0.4
	GOOD

	0.2 - 0.3
	OKAY

	0.1 - 0.2
	PASSABLE

	0.0 – 0.1
	SUSPICIOUS

	< 0.0
	HORRIBLE


The percentage of students who answered the question correctly paired with a biserial correlation can be used to provide a useful guide to determine whether a question should be retained, revised or removed from current and future exams.

This is explained well in an article by Peter Connor, Interpreting Biserial Correlation Scores http://tilt.colostate.edu/tips/tip.cfm?tipid=43, reproduced in full below.

Interpreting Biserial Correlation Scores

By Peter Connor
If you’re confused about what the biserial correlation number on a Scantron report is—and what you're supposed to do with it—this should help. Biserial correlations are statistical measures indicating the strength of the relationship between the right answer for each question on a multiple-choice, fill-in-the-bubble exam, relative to the total number of correct answers for all other questions on the same exam. It is arrived at by comparing how well students did answering one question, relative to how well they did answering all the questions.
Implicit is that that those who performed well on all questions should have performed well on the one being measured; those who did poorly on all should have done poorly on the one being measured. For each question, the closer to +1 the coefficient, the better the question fits with the other questions on the exam; the closer to 0, the lower—or more suspect—the value of the question. Negative correlations are often an indication that the question may need to be reverse coded.  Properly interpreted, a biserial correlation coefficient will help whomever designed an exam determine whether a question should be retained, revised or removed from current and future exams. 
It's a matter of percentages. Here's what a Scantron report will look like.
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Here's how to interpret the Scantron report. A question returning with:

1. A high percentage of students scoring a correct answer, paired with a biserial correlation greater than +.10 (see question 1 above), indicates a fundamentally good question. Those who did well on the exam overall, did well on this question. Such questions have a high value and should always be retained. 

2. A low percentage of students scoring a correct answer, paired with a biserial correlation greater than+.10 (see question 3 above), also indicates a fundamentally good question—an excellent one, as a matter of fact—the primary distinction being, the question is more difficult. Only the best students should be expected to answer it correctly. Such questions have a high value and should always be retained. 

3. A high percentage of students scoring a correct answer paired with a biserial correlation greater than -.10 but less than +.10 suggests a relatively easy question or, one that may be simply too easy for the test. A mediocre percentage of students—say between 50% and 70%—scoring an answer correctly, but paired with a similar biserial correlation, may be removed or reworded. [Note: No hard and fast rules here—this is an instructor call.] 

4. A low percentage of students scoring a correct answer paired with a biserial correlation less than -.10 (see question 2 above) indicates a question that may be keyed wrong or need to be reverse coded. There is something wrong, either in wording, scoring, syntax, and/or content. Those who did poorly on the exam are more likely to score a correct answer than those who did well. Without revision, the question has no value and the instructor should consider its removal. [Note: the instructor should check to see that the answer was properly keyed in to the computer—unintentional input errors will almost certainly skew results.]
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